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Assignment Sheet - 2 : d- and f- Block Elements

1. Whan pyrolusite is fused with KOH, the colour of the
product is
a, rad b. pink
. blsk d. grean

2. Which ol the foliowing Is wang?
a. KGO0, — Qrange
b. CuS0, -5H,0 — Blue
€. M5S0, —s Yallow
d. Cr{80, )y — Pumpla

2. In which of the following compounds, Mn has highest
axidation state?
A B Mn, b MO
&. KMnDy, ol MinyO,

4, KMnD, is used
&. In analylical chemistry
b as & SEepunte oxidant in praperative organic chamistry
&, in Dleacheng of wool, cottan and silk
d. All ol the abova

5. On addition of amall amount of KM, to
cone, S0, a green oily compound is obtained
which = highly explosive in nature  Identity the
compound from the following,
& Mg, . Mncy
[~ MnEﬂ_. d. HH}DJ

6. There are 14 elements in actinoid series. Which of the
following elements does not Delong bo this series?
a Ll b Mp
. Tm d. Fm

7. In context of the lanthancids, which of the following
slatements is not corrack?

&, Thare i= a gradual decrease in the radi of the
membens with increasing atomic number in the
sanes

. Al the members exhidl + 3 odation stala

. Becoime of sdmilar proparias, the saparaton of
lanthanoids is not easy

d. Avallability of 4f electrons reswlts in the formation of
compounds in+ 4 state for ad the memibers of the
safias

B. Knowing that the chemisiry of lanthanolds (Ln) B
dominated by s +3 oxidation state, which of fhe
fodlawirng statements is incomeact?

B Because of tha lamge i o he Lo () ions, the
hu;ndng in &8 COMpounds s Fuhu:ln-rn'nanljy bormec b
character

b The ionic sizes of Ln (1) decreass m ganaral with
imCreasing abores numbser

g. Ln {lll] compounds &re generally oaurass

d. Ln {lll] hydraxides are mainly basic in character

8. The basicity of lanthanold hydroxides across the
anthanod seras
8. decrassns
b ncrdases
¢. firsl decraases and than INCrAASSs
d. Frsf Increases and than dePcreases

10. Among the foliowing lanthanoid NS, ing

paramagnalic ion is .
a Yb* b. EU
e I.'l]-:‘- l:l'. Eﬂ'-ll

11. The aclinoids include the ...A... slements fram . 8.,

ta...0... Here, A 8 and O refer 1o
&, A-bourtean, B-Th , C-LF

b A-bwaha, B-Lr,G-Th

. A- thirtaen, 8-Lr, & =-Th

d. A= lourlesan, &= Th, &'- Lr

12. Larger numbif of oxidation siales ara exhibited by the

actinoids then those by the lanthancids, the main

reason beng

A. dforbitals are more diffused than (ke S5Forbilals

b, lessar anargy diference batween 5fand 64 than
babwaan 41 and 5o orbitals

c. mora energy diference batwaen 5 fand &4 than
between 41 and Sd orbitals

d. mare reactive nelure of the actinagids 1han the
lanthamosds

13. Tha ~block consists of ... SBres.

. o b, thrga
c. four g, diva

14. Actinoids possess

15.

16.

17.

&. varable valancy

B 12 efemenia

. all aynmetic alpmsents

d. only short-lreed OHOpOsS

The lanthanoid contraction is related to
A, algmic racii

b, atomic as well a3 lonkc radi, M

. valence alectrons

o, oxidation siabes

Lanthangids and actnoids differ from eack ather
becAuas

a. of the presence of partially filled outemaost shails

b, actincids are radioactive in natume

&. ihey show common oxidation state of + 3

d. both are known a3 irner-transition elements

The one which |8 not the characteristic proparty of
|ran!_1r11|:an alemant, iz

a. diamagnatic behaviour  b. formation of complexes

. catalylic activity . varable coidation statas
18. Dichromata konz in alkaline madium axist as

g Cn0g b. Cro),

c. Cr™ d Cr*
18. Tha correct famula for diamine silver chiorde 15

& [AgiNH, )|l

b [ﬁﬂlf'l'l;]abﬁl

. AgCL NH,

. [AgiMH, );]Ci

20.Which ot the following oxides is used as a whole

plgment?

i, Inci b Fpd & MO d Cud



21.

22,

23.

24.

25.

Mercury is a liquid metal because

a. it has a completely filled d-orbital that causes
d-d overlapping
b. it has completely filled d-orbital that prevents d-d

overlapping
c. it has a completely filled s-orbital

d. it has a small atomic size

When a solution of potassium chromate is treated
with an excess of dilute nitric acid,

a. Cr** and Cr,02" are formed
b. Cr,0;°" and H,0 are formed
¢. CrO?" is reduced to Cr**

d. CrO%" is oxidised to Cr,08

In the extraction of Ag, Zn is removed from (Zn-Ag)
alloy through

a. cupellation b. fractional crystallisation
¢. distillation d. electrolytic refining
Green vitriol is

a. ferrous sulphate b. tin oxide

. Zinc oxide d. ferrous carbonate
Pyrolusite is a/an

a. oxide ore b. sulphide ore

¢. carbide ore d. Not an ore

26. When potassium ferrocyanide crystals are heated with
conc. H,S0,.the gas evolved is
a. S0, b. NH; ¢. CO, d. CO

27. van-Arkel method is based on 1
a. cupellation method b. fumace refining methad
¢. poling method d. None of the above

28. Oil paintings turn blackish after some time. The sall

formed is
a. SnS b. CuS ¢. PbS d. CdS

29. The extraction of which of the following metals
involves bessemerisation?
a. Fe b. Ag c. Al d. Cu

30. A metal X on heating in nitrogen gas gives Y. Y on
treatment with water gives a colourless gas which
when passed through CuSO, solution gives a blue
colour, Y'is

a. Mg(NO,), b. Mgz, ¢ NH; d. MgO



